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ZN=ZS+(Z1-Z0) 

GN=GS*(G1/G0) 
ZN GN  
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Vin  

 Vin = A * VREF + B 

B A * Vref  
VREF A = 1 B = 0 0 Vref

+/-Vref B B
A * VREF  

 
 

 
ZN FN  

ZN= Z0 + (B * 2^20 / (SPAN * F0 / 2^24)) 

FN= F0 / A 
SPAN VREF/ 2VREF/  

B V A A 0.8 1.05  

ZN FN ADC  
ADC 2,165,373 5,416,211

0 VREF 5 V VREF 2.5 V 0.2 V 2.6 V B
0.2 A (2.6 – 0.2) / 2.5 = 0.96 ZN  

ZN = 2,165,373 + (0.2 * 2^20 / (2.5 * 5,416,211 / 2^24)) = 2,425,218  

FN = 5,416,211 / 0.96 = 5,641,886
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A 0.8 1.05 ADC
AD7705 5 V 50 Hz 1 4.1 μV 0 2.5 V

0.2 V 2.5 V 4.1 μ
V log (2.5 V / 6.6 * 4.1 μV) / log 2 = 16 0.5

log (2.4 V / 6.6 * 1.5 μV) / log 2 = 16 0.5


